B VCE & PDF https://lwww.geekcert.com/hpe0-s22.html
' 2024 Latest geekcert HPEO-S22 PDF and VCE dumps Download
: GeekCert.com

HPEQ-S229%As

Architecting Advanced HPE Server Solutions

Pass HP HPEO-S22 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/hpe0-s22.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by HP Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest HPEO-S22 Dumps | HPE0-S22 VCE Dumps | HPEO-S22 Braindumps 1/4


https://www.geekcert.com/hpe0-s22.html
https://www.geekcert.com/hpe0-s22.html
https://www.geekcert.com/hpe0-s22.html

VCE & PDF https://www.geekcert.com/hpe0-s22.html
2024 Latest geekcert HPEO-S22 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

What defines lease rate factor (LRF)?

A. the sum of all costs incurred

B. the periodic rental payment, expressed as a percentage of equipment cost

C. the cost of the direct capital expenditure, divided by the expected lifespan of the equipment
D. the expected time to recover the initial investment

Correct Answer: B

QUESTION 2

An architect needs to demonstrate the financial advantages of a proposed HPE server and Hypervisor- based solution
compared to a legacy server environment that has traditional servers and desktops.

Which tool should the architect use?

A. Hyperscale Business Value Calculator
B. Client Virtualization ROI Calculator

C. HPE Business Technology Optimization
D. HPE Business Process Monitor

Correct Answer: A

QUESTION 3

What is one advantage of hard partitioning, or nPartitioning, for HPE Integrity Superdome X as compared to virtual
partitioning?

A. It permits the flexibility to assign different processor cores on the same processors to different partitions
B. It allows a single blade to support more guest operating systems

C. It provides greater reliability because partitions are electronically isolated

D. It enables HPE Helion CloudSystem to deploy VMs to the Integrity Superdome X System

Correct Answer: C

QUESTION 4

View the Exhibit.
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Refer to the exhibit. A customer has an HPE ¢7000 enclosure managed by HPE OneView with HP BL460c Gen9
servers in a vSphere cluster. The customer has multiple vLANs trunked from the top of rack (TOR) switches to the
Virtual Connect modules in the enclosure. Due to network Access Control List (ACL) requirement and guidelines from
the networking department, all network traffic should be forced to an upstream switch using the Virtual Connect "Private

Network" feature.

The customer reports slow network response.

Which modification can the architect recommend to improve network performance?

A. Change the FlexFabric 20/40 adapter modules with Flex 10/200 modules.

B. Change the FlexFabric adapter modules with Flex-10 adapter modules.

C. Remove the Management network from the uplinks.

D. Put the vMotion network in a separate uplink set and disable "Private Network".

Correct Answer: A

QUESTION 5

An architect takes the following notes during a meeting with a customer:

1.

plans to introduce an entirely new service offering to customers

2.

servers will be virtualized and will consume large amounts of storage space

3.

project is to operate in an isolated section of the data center with limited access to the corporate network

4,

need flexibility to grow quickly as required by the new service demands on the infrastructure

5.

has no repeatable process for firmware management
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6.

concerned about how long it will take for the project team to become productive on the new infrastructure Which
solution should the architect propose to help the customer overcome all of its project challenges?

A. HPE BladeSystem solution with HPE 3PAR storage

B. HPE Apollo 6000 solution with HPE 3PAR storage

C. HPE ConvergedSystem 700 solution with HPE 3PAR storage
D. HPE Apollo 2000 solution with HPE 3PAR storage

Correct Answer: B
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